
In the following passage there are some spelling mistakes. On each numbered line you will see that
there is either one mistake or no mistake at all. Find the group of words with the mistake in it and
mark its letter on your answer sheet. If there is no mistake, mark the letter N.

The Knight’s Journey

26. Sir Godfrey road out of the castle, sitting proudly on his horse.

27. He was on a qwest to find the lost treasure of the ancients, which was

28. supposed to be hidden in the distant mountains. It was a legend and

29. no-one really new whether it existed or not – it was a puzzling mystery.

30. He had found an old scrole which had the treasure castle marked on

31. it, but no names of any places. Sir Godfrey was relaying on his own

32. knowledge of the mountains to try and work out where the castle

33. might be. On that day, he fealt that he was going to be successful.
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